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FIRST YEAR HIGHER SECONDARY
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Part-111
CHEMISTRY
Maximum : 60 Scores

Time : 2 Hours
Cool-off Time : 15 Minutes

/ General Instructions to Candidates: \
* There is a ‘Cool off time’ of 15 minutes in addition to the writing time.
* Use the ‘Cool off time’ to get fan:niliar with questions and to plan your answers.
¢ Read questions carefully before answering.
* Read the instructions carefully.
« Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.
* Give equations wherever necessary.
+ Electronic devices except non programmable calcuiators are not allowed in the Examination Hall.
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Questions 1-7 carry 1 score each Answer all
questions. (1x7=7)

1.  Write any one molecule in which Octet
rule is violated

2. Fe(S)+2Hcl(aq) — FeCl,(aq)+ H,(g)

is an example of

a)  Combination reaction
b) Displacement reaction
¢) Decomposition reaction

d) Disproportionation reaction

3. Name of the products X and Y in the
following reaction

Zn+2NaOH —»> x+y

4. 1 mole of sodium chloride =
formulae units of sodium chloride.

5.  Which of the following group of
elements are having the highest
ionization enthalpy

a) Group I elements
b) Group 17 ¢clements
) Group 18 elements

d) Group 2 elements

1 OO 7 USOWISE 82106 YEIRROE B0} IVEH00
aflmo. ag)g)o 62106 I8BWRHN 0 HTTTVO ag)PIMIH:.
(1x7=7)

1. @radss mlwaeming allojaverw emy
®DO® )P IO,

2. Fe(S)+2Hcl(aq) - FeCl,(cq)+ H,(g)
ED@ IOPQIOWIM Ry [ncuddmmEsiay
©E2aNMEMMIEM ? -

ag)) MoGWILRM (aJCUAGMMo

enl) @ERW ([ICUA®EmMo

o) Aflegm (alcudemmoe

o)) adlmijalegjodatemaeaiaum lcudmmmo

3.  apaes cm&cmﬂco’laog,ﬁn
cudemmesies X, Y agor)
HLIaIMETBSINS GalODP LMD,

Zn+2NaOH —»>x+y

4. cooR cmowlwo C£HIOOOW’
----@aVOU@o BEINOOMW BRI IS
eniigldud
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6.  The hybridization of Boron atom in BF,
is '

7. Which is the strongest reducing agent
among alkali metals

Question 8 to 20 carry 2 scores each Answer

any 10 questions. (10x2=20)

8. Which one among NH,and NF, has

higher dipole moment? Why?

9.  Why do real gases deviate from ideal

behaviour? )
06mile6Nm) ?
10. Classify the following properties in to 10 ) .
state functions and path functions. + @O0¥ alOWIM  (DIEMEBOS  GHRE
apoWaumMm” *,* aloEW afoWaHMay” ’
Heat, Pressure, Volume, Temperature ng?m'lm(cmomfl sudMITl2] ag)amye:
®Jalo, cm%@é, QuYOai®o, §DaUBOO
11. Calculate the pH of 0.02 M Hcl. 11.  0.02 M Hcl o pH ®:e6mz0mys:.
12. State Mendeleev’s periodic law. 12. endwelaflod aflolcwowls: mlwao
RO H6) 1. '
13.  Write the law of definite proportion. 3. alumlo Gomie 0o doeo igoatea.
. . .
14. What will be the wave length of a ball of 14. 0.1 &1 o0 ao@y 9ep®go 10 ms
mass 0.1 kg moving with a velocity of (1sUOEMIA 21eflenM®ILIW B0y
10 ms'? o aOBlOR Moo HOBHRIY0 ag)moem ?
15. Draw the shape of 1s and 2s orbitals. 15. 1s, 2s eddefigeegles afi@o
' QUAQIBO B>
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6. BF, wleal 36080 06MIOMR
_96a0ENSIOOsIVAUMD ------ @ReN).
7. eo@senel celaoaBglos  aggiio

@O ) pOas (BB IE:00 age ?

8 DO 20 AUOO E2I0BYEBREE BENE MIBHID
flmo.  agommlalo 10
DTHONDS Y.

3203 6B R 6
(10x2=20)

8.  NH,, NF, i@ og@lmoem’ &pslw

(WIUD ? ag)TTOBH06NS ?
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16.

17.

18.

19.

- 20.

Question 21 to 28 carry 3 score each. Answer

any 7 questions.

21.

22.

23,

* reagent in the production of NH, in this

Molar volume is an intensive property
Jjustify.

What is electro negativity? Mention any

one scale of electro negativity?

Water is a liquid at ordinary temperature.

ButH,S is a gas why?

Au = g+w State the law for the above

mathematical expression.

CaCo;y,, = Caoy,y + Co,,, Write  the

expression for equilibrium constant.

(7x3=21)

30 Kg. of N,(g) and 10 Kg. of H,(g) are
mixed to produce NH,(g). Calculate th;a
NH,(g) formed? Identify the limiting

situation.

Write 3 important characteristics of

anode rays or canal rays.

16.

17.

18.

19..

20.

21

@RO8IR uyoaSmo &0) @@Wmilal
WeM@I6M). ANlEMOLNYE:.

EDLIBB(SO HMNFIL® ag)amoem 7 @oian

a@eOmBs1Rldo QMY MIBBQIMR ag)Pimid:.

MOWOReM 9V DOIU@ Kelo SB0)

(BOUHDIEM. agmmodd HS' ey

QUOISBI6T). aG)THEXS>06NE ?

Au=qg+w OOIN BoSlquoomnowisies
lao (IqRoaleess.

CaCo,,, — Cao, + Coyy, aramieIm

qGled0wo ag)PI®Ids.

QIO@ 28 UOOWIES 62106 )BGIH

o@e®BIello 7 ag)gRABTIM OEMOODLIMID.

£0600MMImio 3 MIEL:00 aflmo.

21.

22.

(7x3=21)

30 &) (oo. N,(g) @0 10 & 10 H,(g)
@go caidew’ NH, (g) mldarleyy. 00
M2a02IRYEBI@ ag@oem elladlglouy’” @da

Ay ? ag@ao@o NH, ajateqys;.

@emony @OLRJIITD HMOM AUIIDE160S

@20 (aIwdm VQNIBRAHU@DRD af) P LB, '

oW ROP eemd MO (So

23,
Describe the line spectrum of Hydrogen. Aloodledons.
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24.

25.

26.

27.

28.

29.

Write down any 3 postulates of VSEPR

Theory.

Write the hybridization in the case of
PCL? Why are axial bonds are longer

than equatorial bonds.

Using MOT, Explain why Be, molecule

doesnot exist?

Nog) +3H gy = 2NHy )

AH =-92.38kJ/mol

What is the effect of temperature and

pressure in the above equation.

The ionisation of NH, OH is suppressed

by adding NH, Cl why?

Calculate the lattice enthalpy of sodium

chloride using Born-Haber cycle.

24.

25.

26.

27.

28.

29.

VSEPR milavommamiled agemaleljo

@O @RSIOOM EO@UETBWD ag)PI® b,

PCl, @mo@wies eaanEnioowemaxmd
QI RER060:. MDD SeoeTdLY R
D BRICIWAD BENIOETIHWIB:ERR60U (rHigo

B JSIODMLEEI6NE ?

MOT gaiswowla” Be, om@mow

ag)(med06me mlamiddenimmlg agom’

flcod) @6y

Nyg) +3H gy = 2NHy,,

AH =-92.38kV/mol ‘

Loy avinmo.;e;;m‘lm% ovatimoaflegwio

adgemilad@ioe mjoulimo agy ? ‘

NH, OH exg afleaismesm NH, Cl ao.dars

@RS 2 JBdEMIMNY. aGITNIOB06NE?

@606 - BanenB OMVHENR Palewouilyl

emowl@e eggoaanwled eoglmy

ag)MLOOWall H:66MBEBS:.
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Answer any 3 questions from question | 30 o@@ 33 UOEWIE] 2100 6BE@

numbers 30 to 33 Each carries 4 score. A@oO® m%o 3 aQERETT SEMEODL Y16,
(3x4=12) .

4 mige-0d Aflmo. . (3x4=12)

30. 1) 240168 caldamidleniMmauns

30. i)  Write the stock notation of the

following V,O,, Fe,O,

278

ii) Balance the following reaction 2)

using oxidation number method.

Cr,0,”(aq) + SO, = Cr**(aq) + SO, (aq)

31. Give the reason for the permanent

hardness of water and suggest two

BEROBE) ONIBZAHMD ag) P>
V,0,,Fe,O,

e milewad mmud ool
oale@omlal” ®OOYW I8
(IQUIREDMEDD VBN @)D,

Cr,0,2(ag)+ S0, = Cr*(ag) + 50, (aq)

31. maonief cude 6:o0mieslag &ooeme

Aluelenid. mole £00Imjo MIeeo

methods for removal of permanent ©21QoMmI8s oene’ 0odQEBR

hardness. ) deautle6 16>,

32. Why Lithium exhibits anomalous
Properties? Write any two similarities

between lithium and Magnesium.
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32. elWlwo @OALIWOVEM  MVEIUMBUD
»Ho6MIBO MO ® M L6 HO 6" ?
ellwemlo@@io mwmlayemlo@@io

O6NE VOB YDBR 0g) 3>,



33.

i)

Derive ideal gas equation

At 25°C and 760 mm of Hg
pressure a gas occupies 600 ml

volume. What will be its pressure

at a height where temperature is

10°C and volume of a gas is 640ml.

33.

i)

ii)
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@RI, UIOS OIS o

®Jofl o6,

25°C @ilad 760 mm Hg adgemieno

80} UOmBEEIOG Alydaime 600 ml

@em. agmoad 10°C fleiyo 640 mi
@l  efl.  yoqiedem @D
Qoe:eiemnsld, Mmalen ndgo
ag)moeM ?



